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PEMDAS (3 terms)
Order of Operations Worksheet

Solve the following.

102 × 12 ÷ 3 = 72 + 12 ÷ 4 =

8 + 10 − 23 = 62 − 6 ÷ 3 =

33 − 9 ÷ 3 = 12 + 123 ÷ 9 =

43 − 11 + 12 = 112 × 3 ÷ 11 =

5 + 122 ÷ 6 = 103 × 11 + 6 =

7 × 43 − 4 = 62 × 4 − 6 =
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PEMDAS (3 terms)
Order of Operations Worksheet

Solve the following.

102 × 12 ÷ 3 = 400 72 + 12 ÷ 4 = 52

8 + 10 − 23 = 10 62 − 6 ÷ 3 = 34

33 − 9 ÷ 3 = 24 12 + 123 ÷ 9 = 204

43 − 11 + 12 = 65 112 × 3 ÷ 11 = 33

5 + 122 ÷ 6 = 29 103 × 11 + 6 = 11,006

7 × 43 − 4 = 444 62 × 4 − 6 = 138


